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FEERNRE SHSEEAS BBECE TR MR (EIR)

£ £ K - kTR B % B2 Bl ® W =
EER@ 7,811,169
BOEZ: 7,811,169
E3 B 7,811,169
E3 B 7,737,410
REtEtE 89, 800
1 REtetE 1.00 89, 800 89, 800
=®
BRREEE 196, 050
2 BFHInEE 1.00 196, 050 196, 050
=®
BOE i 131, 600
3 MM - BAREHETE 1.00 131, 600 131, 600
[ERA _EEPREEERET (HEMLERTR) 2,636,610
4 PERE L ERAEE AT 1.00 1,531, 260 1,531, 260
447
5 XEER 1.00 877,950 877,950
447
6 HEHE 1.00 227, 400 227, 400
447
FERAEHIKIBESET (T REE) 864, 200
7 FERREHEKIEE AT 1.00 404, 420 404, 420
447
8 XImE1ERL 1.00 260, 190 260, 190
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9 HEHE 1.00 199, 590 199, 590
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MR T M IEERAT (ERHEE) 2, 490, 900

10 LEEEEETORBRE 2.00 153, 900 307, 800
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1 %g#ﬁ%ﬁ&zfﬁﬁ#ﬁ%d)fﬁﬁw 2.00 167,975 335, 950
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12 BRREOHMEBCERET 1.00 1,204, 200 1,204, 200
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13 BHEtE (RERFIKE) 1.00 198, 300 198, 300
447

14 BFHEHE (ERARFIKE) 1.00 167, 200 167, 200
447

15 HmEIER 1.00 127, 250 127, 250
447

16 HEHE 1.00 150, 200 150, 200
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iR 758, 800

17 I HEO®KRE 1.00 292, 600 292, 600
=

18 I EtEO®KRE 1.00 337, 900 337, 900
=

19 BEIZEOEH 1.00 128, 300 128, 300
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AR 208, 000

20 HREEERK 1.00 208, 000 208, 000
=
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21 #Hhi& - ®E 3.00 81, 350 244, 050
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BE 117, 400

22 BE 1.00 117, 400 117, 400
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% g g - BIKTE B4 B 2 B £ 8 =
EZRE 7,737,410 + 73,759 7,811,169
EEAGE 7,737,410
BHERE 73,759
T DR 7,737,410 x 53.85% ( 35% + (1 — 35%) ) 4,166, 595
R 7,811,169 + 4, 166,595 11,977, 764
—RERES 11,977,764 x 53.85% (35% = (1 — 35%) ) — 7,789 6, 442, 236
e 11,977,764 + 6,442, 236 18, 420, 000
HEREHELE 18,420,000 x 10.00% 1,842,000
EHRFEH 18, 420,000 + 1,842, 000 20, 262, 000
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2 [ g - BIRTE BAGT H = B O(f & % W B 5 =&
F RN (BRED)
A 1.00 62, 200. 00 62, 200
AR (A)
A 0.50 55, 200. 00 217,600
& it YEZERESN - 1.00=K 89, 800. 00 89, 800
5:2
£ BRINEEE =)
2 [ g - BIRTE BAGT H = B O(f & % W B 5 =&
AR (A)
A 1.50 55, 200. 00 82,800
AR (B)
A 2.50 45, 300. 00 113, 250
& B YEZEREN - 1.00=K 196, 050. 00 196, 050
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% f R - AT B B = BO(f & % W OE s =&
F{EHRAM GRED
A 0.50 62, 200. 00 31,100
AR (A)
A 1.00 55, 200. 00 55, 200
AR (B)
A 1.00 45, 300. 00 45, 300
& it YEZERED - 1.003h = 131, 600. 00 131, 600
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A 0. 60 70, 900. 00 42, 540
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A 3.00 62, 200. 00 186, 600
HEm (A)
A 6.30 55, 200. 00 347,760
HEm (B)
A 9.60 45, 300. 00 434, 880
AR (C)
A 9.00 35, 600. 00 320, 400
Bifig
A 6.30 31, 600. 00 199, 080
& i YE%82H ¢ 1.00917° 1,531, 260. 00 1,531, 260
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£ 5 I - IR TR Bif #H = B Ol ® 4 i 5 =&
Bk
A 0.30 70, 900. 00 21,270
FAEERER (F%ET)
A 0.90 62, 200. 00 55, 980
A (A)
A 2.10 55, 200. 00 115, 920
A (B)
A 4.20 45, 300. 00 190, 260
HEh (C)
A 7.50 35, 600. 00 267, 000
B8
A 7.20 31, 600. 00 227, 520
& i YEEEEH - 1.00547 877, 950. 00 877, 950
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[ g - BIRTE B = B O(f & % # 5 =&
AR (A)
A 0. 60 55, 200. 00 33,120
AR (B)
A 1.20 45, 300. 00 54, 360
AR (C)
A 1.80 35, 600. 00 64, 080
&
A 2.40 31, 600. 00 75, 840
& B YEZERESN - 1.004947° 2217,400. 00 227,400
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£ EREEHIKEERET 1547°4Y
[ g - BIRTE B = B O(f & % # 5 =&
HEnE
A 0.20 70, 900. 00 14,180
F RN (B&ED
A 0.80 62, 200. 00 49, 760
AR (A)
A 1.80 55, 200. 00 99, 360
AR (B)
A 2.80 45, 300. 00 126, 840
AR (C)
A 2.50 35, 600. 00 89, 000
i &
A 0.80 31, 600. 00 25,280
& B YEZERED - 1.00847° 404, 420. 00 404, 420
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2 [ g - BIRTE B = B O(f & % # 5 =&
F RN (BRED)
A 0.50 62, 200. 00 31,100
AR (A)
A 0.80 55, 200. 00 44,160
AR (B)
A 1.70 45, 300. 00 717,010
AR (C)
A 1.70 35, 600. 00 60, 520
&
A 1.50 31, 600. 00 47,400
& B YEZERESN - 1.004847° 260, 190. 00 260, 190
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2 [ g - BIRTE B = B O(f & % # 5 =&
F RN (B&ED
A 0.30 62, 200. 00 18, 660
AR (A)
A 0.80 55, 200. 00 44,160
AR (B)
A 1.30 45, 300. 00 58, 890
AR (C)
A 1.30 35, 600. 00 46, 280
i &
A 1.00 31, 600. 00 31, 600
& B YEZERED - 1.00847° 199, 590. 00 199, 590
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2 [ g - BIRTE B H = B & %8 W B 5 =&
AR (A)
A 1.00 55, 200. 00 55,200
AR (B)
A 1.00 45, 300. 00 45, 300
AR (C)
A 1.50 35, 600. 00 53, 400
& B 1E%8ES : 1.007-2 153, 900. 00 153, 900
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2 [ g - BIRTE B H = B & %8 W B 5 =&
F RN (BRED)
A 0.25 62, 200. 00 15, 550
AR (A)
A 0.50 55, 200. 00 217,600
AR (B)
A 1.25 45, 300. 00 56, 625
AR (C)
A 1.25 35, 600. 00 44,500
i &
A 0.75 31, 600. 00 23, 700
& B YEZERED ¢ 1.007-2 167, 975. 00 167,975




RER-FEL/ SV — SHSEERN EiBFCERHR)FMFETE2R)
&5 :12
& BRREOHERSHEN 1r-24 Y
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F RN (BRED)
A 1.50 62, 200. 00 93, 300
AR (A)
A 6. 50 55, 200. 00 358, 800
AR (B)
A 7.00 45, 300. 00 317,100
AR (C)
A 10. 00 35, 600. 00 356, 000
&
A 2.50 31, 600. 00 79, 000
& B 1E%8ES : 1.007-2 1,204, 200. 00 1,204, 200
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2 [ g - BIRTE B = B O(f & % # 5 =&
F RN (B&ED
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55, 200
AR (B)
A 1.00 45, 300. 00 45, 300
AR (C)
A 1.00 35, 600. 00 35, 600
& it YEZERED - 1.00847° 198, 300. 00 198, 300
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F RN (BRED)
A 0.50 62, 200. 00 31,100
AR (A)
A 1.00 55, 200. 00 55, 200
AR (B)
A 1.00 45, 300. 00 45, 300
AR (C)
A 1.00 35, 600. 00 35, 600
& B e8¢ 1.00547° 167, 200. 00 167, 200
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2 [ g - BIRTE By £ B & ] # 5 =&
AR (A)
A 1.00 55, 200. 00 55, 200
AR (B)
A 0.50 45, 300. 00 22,650
AR (C)
A 0.50 35, 600. 00 17, 800
i &
A 1.00 31, 600. 00 31, 600
& B YEZHER - 1.00547° 127, 250. 00 127, 250
H55:16
2 BEFHE 15477 &Y
% f R - AT B = BO(f & %8 i s =&
Em (C)
A 2.00 35, 600. 00 71, 200
i &
A 2.50 31, 600. 00 79, 000
& B YEZHER - 1.00547° 150, 200. 00 150, 200
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£ G & - BIKTE B = B Ol ® % 1# 5 &
FEHRAR (F%ET)
A 1.50 62, 200. 00 93, 300
HEm (A)
A 1.50 55, 200. 00 82, 800
HEm (B)
A 1.00 45, 300. 00 45, 300
Em (C)
A 2.00 35, 600. 00 71, 200
& B 1E%8EH : 1.00= 292, 600. 00 292, 600
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& EIEEORKET IEEP,
£ G R - BIKTE B = B Ol ® % 1# 5 &
FEHRAR (F%ET)
A 1.50 62, 200. 00 93, 300
HEm (A)
A 1.50 55, 200. 00 82, 800
HEm (B)
A 2.00 45, 300. 00 90, 600
Em (C)
A 2.00 35, 600. 00 71, 200
& B 1E%HEH - 1.00K 337, 900. 00 337,900
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£ £ R - BAKTE AL = B Of € # 1 5 &
HER (B)
A 1.00 45, 300. 00 45, 300
Em (C)
A 1.00 35, 600. 00 35, 600
BifTE
A 1.50 31, 600. 00 47, 400
& B 1E%HEH - 1.00K 128, 300. 00 128, 300
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FIEHRED (BRED
A 1.00 62, 200. 00 62, 200
BEm (A)
A 1.00 55, 200. 00 55, 200
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A 2.00 45, 300. 00 90, 600
a8 it EXRES : 1. 00 208, 000. 00 208, 000
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B B8 - WS 1EZY
% g - BKTIE B H B B ® 8 S % %
FEHRED (BRED
A 0.50 62, 200. 00 31,100
BEm (A)
A 0.50 55, 200. 00 27, 600
BEm (B)
A 0.50 45, 300. 00 22, 650
& &t EZEHEH : 1. 00[= 81, 350. 00 81, 350
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FEHAEM (BED
A 1.00 62, 200. 00 62, 200
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A 1.00 55, 200. 00 55, 200
& &t EZEREH - 1. 00X 117, 400. 00 117, 400
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